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A E L]
EETFRELE = x 100 (%)
EEDORE

-2, 584, 330, 107

= x 100 = -100.7 (%)
2, 565, 588, 468
RAFTAEOBEFESFRUELL (=) &%
E&DFE%E = A+B—C (—D) %DIlE. A+B—C>0THNITEA
= 392.450,335 + 0 — 2,976,780,442 (—D)

= -2,584,330,107 (A+B—C<0&kY. DIFEAET)

A = RBEROHE - EREXEF ERRILEF ZRE-PFIZREREF

= 469,696,097 — 77,245,762 — 0 — 0 — 0 = 392,450,335

B= HAtARNRES = 0

C = REBEEDIE—ERMIR—1ERE

= 2,976,780,442 — 0 — 0 = 2,976,780,442

D = fEHWREETEE = 0

BROBE = S (+s) —T SIHEEEEE (FIAHEF) ZEALTVWSBEIZEA
= 2,586,818,468 + 0 — 21,230,000 = 2,565,588, 468

S = EXPR&DEE = 2,586,818 468

s = HBEEEEOFAMEIRAOE =0

T = SHEIEWEOE = 21,230,000
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